ETHERNET

RX-ETHOO Series

RX-ETH12 Series

p.1
p.2

RX-ETH20 Series  p.4 RX-ETH38 Series  p.6

RX-ETH25 Series  p.5 RX-ETH50 Series  p.7

<>

N DIMENSIONS (in mm)

RX-ETHO01 - 1 Ethernet Channel

035
3-p54 EQS

A

RX-ETH002 - 2 Ethernet Channel

4 B-IEEIMMAND

Rotor Wires
N

ROTOR STATOR
g9.9
5 I N - S N
= =
8.2
9.2
15
L length_____ |

Stator Wires

Stator Wires

GRUETZMUEHLENWEG 46
DE-22339 HAMBURG

—-[@.—

Length

T. +49 40-538092-50
F. +49 40-538092-85

INFO@B-COMMAND.COM
WWW.B-COMMAND.COM


mailto:info%40B-command.com?subject=
http://www.b-command.com

ETHERNET

.‘ DIMENSIONS (in mm)

RX-ETH121 - 1 Ethernet Channel

4-M3 Screws //
Rotation Axis —

RX-ETH122 - 2 Ethernet Channel

ROTOR STATOR
12
5 Anti-Rotation Tab
I *
Rotor Wires Stator Wires
\\ : g
==
opuiil T8O __ L
T =
. 1] ;
/
43 Sorews /|| L
Rotation Axis —r~r 5‘?
T Length

RX-ETH122 - Optional Flange Version (Drawing only exemplary, further details on request)

ROTOR STATOR
Anti-Rotation Tab
ol 8
s 1 Stator Wire I
Rotor Wire o
—'-.I = ::I e s
1 _‘ I:il
E w
g 8- -
=
4
Flange /
! ! 5
-0 Length

B EDMMAND GRUETZMUEHLENWEG 46 T. +49 40-538092-50 INFD@B-EDMMAND_CUM
ABCEMMAND DE-225830 HAMBURG

F. +49 40-538092-85 WWW.B-COMMAND.COM


mailto:info%40B-command.com?subject=
http://www.b-command.com

ETHERNET

.‘ DIMENSIONS (in mm)

RX-ETH121-QSX - 1 Ethernet Channel

ROTOR STATOR
Rotor Wires Stator Wires
, ,*f
=
AN -
- & 14

o )

g w— 2

\ i = N\ | Anti-Rotation Tab

7{___ 2.9
4-M3 ‘Screw's 5
Rotation Axis ™ 7
Length
RX-ETH122-QSX - 2 Ethernet Channel
ROTOR STATOR
Rotor Wires

o )

g w— g

= /

AL125
4-M3 Screws / 6
Rotation Axis "~
Length
3 GRUETZMUEHLENWEG 46 T. +49 40-538092-50 INFG@B-EDMMAND.EUM

\B'CP MIMANR DE-22339 HAMBURG

F. +49 40-538092-85 WWW.B-COMMAND.COM


mailto:info%40B-command.com?subject=
http://www.b-command.com

ETHERNET

.‘ DIMENSIONS (in mm)

RX-ETH201 - 1 Ethernet Channel

22

ROTOR STATOR
. . 12
Anti-Rotation Tab
o —\
Rotor Wires Stator Wires
AN
k. ~
-~
[=2]
L - O 1
=
==
/
4-M4 Screws /
Rotation Axis
35
8.6 l— Length ___|
RX-ETH202 - 2 Ethernet Channel
ROTOR STATOR
Anti-Rotation Tab
Rotor Wires Stator Wires
o ¥
4-M& Screws X
Rotation Axis
3.5
8.6 ~— Length —
S GRUETZMUEHLENWEG 46 T. +49 40-538092-50 INFD@EI-EEIMMAND.EGM
\?;?MMAN ‘‘‘‘‘ DE-22339 HAMBURG F. +49 40-538092-85 WWW.B-COMMAND.COM


mailto:info%40B-command.com?subject=
http://www.b-command.com

ETHERNET

.‘ DIMENSIONS (in mm)

RX-ETH251 - 1 Ethernet Channel

Rotor Wires

050

254§

4-Mé Screws

! Rotation Axis 3.5
| 8.6

RX-ETH252 - 2 Ethernet Channel

Length

4-M4 Screws

Rotation Axis  3.5—~H-

8.6 -

Length

Anti-Rotation Tab

4
Stator Wires

RX-ETH252 - Optional Flange Version (Drawing only exemplary, further details on request)

Anti-Rotation Tab_
Stator Wire

ROTOR STATOR
Rotor Wire I
\ —
E [{=]
= ==}
= =
E—|
4
Flange /
5
\ +0.2
\_ 925485 RN Length

1§%:IMM&N ;;;;;

GRUETZMUEHLENWEG 46
DE-22339 HAMBURG

T. +49 40-538092-50
F. +49 40-538092-85

INFO@B-COMMAND.COM
WWW.B-COMMAND.COM

22


mailto:info%40B-command.com?subject=
http://www.b-command.com

ETHERNET

.‘ DIMENSIONS (in mm)

RX-ETH381 - 1 Ethernet Channel

Anti-Rotation Tab

Rotor Wires 4 Stator Wires

960
|
|
9
[

4-M& Screws
Rotation Axis 3.5
8.6 . Length__

RX-ETH382 - 2 Ethernet Channel

ROTOR STATOR . .
Anti-Rotation Tab
. 4 Stator Wires
Rotor Wires ;,7
i/
: / 25
= o
w i o
= =
4-M& Screws
Rotation Avis  9-9
8.6 Length_

RX-ETH382 - Optional Flange Version (Drawing only exemplary, further details on request)

19.5 ROTOR STATOR

-

g

Anti-Rotation Tab

4
Rotor Wire H
\
22 =
=] =
3 ——H
o Flange /
p38.1-00 :

%l length | \StatorWire

B EDMMAN GRUETZMUEHLENWEG 46 T. +49 40-538092-50 INFO@B-COMMAND.COM
\.‘(. """""""" e DE-22339 HAMBURG F. +49 40-538092-85 WWW.B-COMMAND.COM


mailto:info%40B-command.com?subject=
http://www.b-command.com

ETHERNET

.‘ DIMENSIONS (in mm)

RX-ETH501 - 1 Ethernet Channel

Rotor Wires

875

o119

4-M4 Screws

| Rotation Axis 3-2 -

Length ]
RX-ETH502 - 2 Ethernet Channel
ROTOR STATOR
Rotor Wires .
=)
uw (=2
o w2
950 ‘8"
4-M4 Screws
| Rotation Axis 86 Length _|

RX-ETH502 -

ROTOR

e
[=]
—
(=1
=
=
=
(1]
1

Optional Flange Version (Drawing only exemplary, further details on request)

@MMAN ;;;;;

GRUETZMUEHLENWEG 46
DE-22339 HAMBURG

T. +49 40-538092-50
F. +49 40-538092-85

STATOR . .
Anti-Rotation Tab
=
~
314
B: )

INFO@B-COMMAND.COM
WWW.B-COMMAND.COM


mailto:info%40B-command.com?subject=
http://www.b-command.com

